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Question 1 passage

a) The health system is likely to come to a halt because of a sharp increase in the number of diabetics in the country.
2mks

b) Consequences of diabetes include:

· Kidney failure

· Loss of limbs

· Comas

· A range of debilitating and life-threatening complications

4 points each 1 mark= 4 marks. Must be in point form if not; deduct ½ a mark from total. No penalty for faulty expression.

c) The result of having to many diabetics in the country is that it places too much pressure on hospital services and in particular, facilities such as kidney dialysis.

d) What seems to be causing the crisis in the healthcare system is poor food choices.
2mk
e) Manufacturers of food can help combat the crisis discussed here through becoming more health conscious and working towards producing healthier foods with low sugar, fat and cholesterol content.
2mks

f) Lifestyle diseases are likely to be a headache in future because: despite growing public pronouncements and awareness that the consumption of excess sugar is bad for health, the availability of manufactured products containing high level of sugar in the country is on the rise.
3mks

g) Kenyans eat up 60gms of sugar per day.

i. Excessive – too much of something

ii. Surging – increasing suddenly

iii. Obesity – the fact of being very fat in a way that is not healthy

iv. Shift – change slightly 
4mks
Question 2 excerpt: A Doll’s House

1. Nora declares that she no longer loved Helmer. She also declares that she will not stay there any longer. What had happened that night had made her realise that Helmer was not the man she thought he was.
`3mks

2. Sacrifice/selflessness – hundreds of thousands of women sacrifice. Nora wanted to kill herself so as to exonerate her husband from blame should the fraud she committed be exposed.

Gender inequality – women are considered not intelligent enough i.e. think like a child. Women are considered fragile, they are treated like a doll, a play thing for amusement. They are treated like children i.e. you think like a heedless child.
Disappointment – Nora is disappointed that her husband Helmer whom she had always believed would take up the blame on her behalf with regards to the case of fraud, confesses that he can’t sacrifice his honour for the one he loves.





(any 2X2=4 Marks) 
3. He is selfish – he could not sacrifice his honour for the one he loves. He only feared for what might happen to him and not what threatened Nora.
He is fearful – he is afraid of what might happen to him when Nora’s case of fraud got exposed.

4. Use of simile – “Oh, you think and talk like a heedless child.” Effect: the perception of Helmer towards Nora is that her level of intelligence is comparable to a child’s.
Use of metaphor – skylark, a doll. Effect: this insinuates that Nora is like a doll, an object of amusement for Helmer.





(any 2X2=4 Marks) 
i. So patiently have I waited for eight years.
ii. I am the guilty one, aren’t I?

iii. Nora exclaimed that she could have torn herself into little bits.
6. Nora had forged her father’s signature on the bond so that she could get a loan from Krogstad. This was considered a fraud and she could be charged in a court of law.
3mks
7. Contemptuous/scornful – she tells Helmer that he neither thinks nor talks like the man she could bind herself to.

Critical – she criticizes his selfishness and disloyalty. He could not sacrifice his honour for the one he loves.

2mks

8. Helmer persuades Nora to reconsider her decision to divorce him, but Nora reiterates that that was imminent.
2mks

Question 3 oral literature

a) A hard-frustrating life √1 of dire poverty and need √1 his hands are rough like sandpaper and he lives in a “sickly” mud house √1
i. Hands spoke eloquently. √1 hands are said to speak like people √1

Arrogant constructions. √1 The constructions are said to be arrogant like a person√1

Sickly mud-house. √1 the mud-house is said to be sick like a human being √1

Sleepy hopes and yearnings. √1 hopes and yearnings are said to be sleepy like a person. √1



(any 2: example √1 and explanation √1)

ii. The sharp contrast between wealth and comfort. √1 the persona’s father worked so hard to produce for the colonialists √1 and the abject poverty he lived in with his family. √1

b) Repetition of the idea of not mourning the father.
Helps show how alive the father’s hope ands dreams are still alive, that his dreams are not dead.

Metaphor – sand paper hands. Shows how rough/coarse the hands were suggesting that carpentry work was very difficult.

Alliteration – bed-bug bed -gives the poem/stanza a musical quality.



(Any one device √1 effect √1)

c) The persona did not and could not mourn the father because he feels that there is hope √1 of improving the circumstances that they all live in, just as the father had kept all those hopes live. √1 Mourning him would be like giving up√1, resigning himself and posterity to fate.
3mks

d) Solemn √1but/optimistic: the persona feels that there is hope in the future, that’s why he feels no need to mourn. √1

i. Bed-bug bed – the bed was infested by parasites√1
ii. I had already inherited his premature old-age look – the speaker’s father and himself had acquired looks of old age long before they were that old. √1

Question 4: Grammar
15mks
i. Difficult as it was, we completed the task. or

Difficult though it was, we completed the task.

ii. He denied having insulted me. or

He denied he had insulted me.

iii. At no cost will I support your evil plans.

iv. She is renovating her house with a view to selling it.

i. Blade

ii. Dose/dosage

i. Responsive

ii. Solidify

iii. Utterances

i. With
ii. With

iii. In
i. Cut in

ii. Took to
iii. Break through
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